MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

CHALLENGE

Name:

Time: Score:

1) —0.06 x (—0.015) =
2 —0.001 x 26.9 =
#3) () x (—23.3) =

s 7 x (—1.86) =

15 0.0004 x 0.84 =
56 0.2 X (—2.77) =
157 —0.0001 x 43.7 =
158 (0.1 x 24.2 =

489 (0.009 x 0.003 =
20 0.01 X 6.3 =

o) —11 x (—182) =
192)().0007 x 0.68 =
193) (0.006 x 3.83 =
101 (0.001 x 0.0104 =

195 —3 X 267 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 4
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—0.9 x (—22.2) =

0 x 4.96 =

—0.03 x (—0.408) =
—2 % 140 =

—8 x (—39.9) =
—0.04 x 0.0174 =

1 x (—0.0036) =

—0.1 x (—0.0229) =
1 x36.7=

0.05 x 3.3 =

—8 x 2.99 =

—1.1 x (—434) =
0.008 x (—4.98) =

6 x (—0.0008) =

—0.3 X 1.86 =
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